Lab 3B - Determining Ksp


Name: _____________________
Background:  
We know that an equilibrium system only exists for a solubility reaction if the solution is saturated and some amount of precipitate is present.  We also know (from Unit 2) that for a dissolving reaction, the Keq is equal to the product of the concentration of the ions



AB2 (s)   (   A+2   (aq)  +  2B -   (aq) 
Keq = [A+2][B-]2      (*the solid is not included)

In our demo, we observed the following:

	Pb(NO3)2      volume, [ ]
	KI         volume, [ ] 
	Observations

	
	
	

	
	
	


Question:
What is the Ksp for PbI2?

Materials:  
 
0.01M  Pb(NO3)2      

0.02M  KI

Any glassware you need
Procedure:  

Design a procedure to help you answer the lab question.  In your procedure, be sure to indicate 

-what you need to measure in order to find the Ksp

-what you need to observe, to know which data matters
To avoid waste, please use small portions in your procedure (ex: 5 mL, rather than 50 mL)
Get your teacher’s feedback/approval.
Perform the experiment and keep track of your results in a data table.

Analysis:
Use your data to calculate the Ksp of PbI2.
Show your work for each calculation.

Tip: Don’t forget to consider dilution!  
 
What happens when to concentrations when you mix the two reactants together? 

Conclusion:

Claim: What is your experimental value for Ksp?

Evidence: “as calculated above”

Reasoning:  What does Ksp mean?  How did you know which data to use to do this calculation? (How could you tell you were at the Ksp point?)

Sources of Error:  Compare your calculated Ksp to the value on your data sheet.  
Is your Ksp too high?  Too low?  What is a likely cause of this error? 

